5)
L} [} O [m]
22 23 24 25 26
15,492 14,160 13,249 12,598
409 440 639
0 0 0 0
15,083 13,720 12,610 12,598
14,777 13,560 12,461
98% 99% 99%
22 23 24
99.9874% 99.9979% 99.9664%
22 23 24 25
100% 100% 100%
12,460,597
25 26
602
2
5 6
183
2
6 15
1391
43
10,358

12,598
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24

32






5,793

5,793

14

14

12

12




5793

1,945

1474

1,161

287

144

3,826

3,415

182

66

61

53

NN N =

3|NEC

1,003

503

188

138

57

39

390

274

101

15

258

50 44

171

1285

44

1285

32

15 23

11

208

50 43

117

37

43

37

27

37

21

N NN W

115

90

24

93

70

23

90

79

10

63

43

19




14

0.01

12

0.03

0.03

2011

10

10

10

10







